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scores = [58, 7@, 37, 9@, 671;
total = 8;

for{ i=@; i =« scores.length; i++){
total += scores[i];

average = total/scores. length;
document.write("3¥5(3 " + average + " AT7T. ");
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array = [6, 1, 18, -3, 5, 23, @8, -12, B, 4];
greaterThanFive = [];

for{
: EZZTHED

document.write("sEUXKEZLEREBRLLRETIL [ + greaterThanFive + "] T%. ");
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array = [6, 1, 18, -3, 5, 23, @8, -12, B,
greaterThanFive = [];
for( i=8; i<array.length; i++){
if(array[i] = 5){
greaterThanFive.push(array[i]});

}
document.write("SEUXEZVEREZRLLZENL [ + greaterThanFive + "]
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Al@] = 1@;
ocument.write{"@HAZ [ + A + "] T. RFBE [ + B + "] T ")
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= [1,2,3];
B = [];
for{ i=@; i<A.length; i++){
B.push(A[il);
by
A[B] = 1e;
document.write("BEHAZ [" + A + "] T, BEFIBIE [ + B + "
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